Sysracks SRE-Series It Enclosure PART LIST

DESCRIPTION

PICTURE

APPLICATION

QUANTITY - Pcs

M5 - Self Tapping Screws

1.Vertical U-Mark Rails (4 pcs)
2.Top/Bottom (4 pcs)

— Black 3.Side Frames to Back Panel / Front 20
Door Frame to Side Frames (8 pcs)

M6 — Screws (Hexagonal Side Frames to Back Panel / Front 3

type) Door Frame to Side Frames (8 pcs)

M6 Cage Type Mounting user equipment (shelf) on 3

Nuts/Screws the vertical U-rails

Rubber Dampers /} Side panels / Front Door 14

Latch Handle Door Lock I Front Door 1

Door Lock Keys é Front Door Locking Mechanism 2




SYSAaAACKS y ®

y 4

STEP#1

Pull the spring latches and remove the front door from the front frame




SYSAACKS , ¢

V 4

STEP#?2

Unlock and remove carefully the side panels from the side frames

Y\ LR
VALY

|
u
|
"
]
a
n
[ ]
g
u
|
a
|
|
a
|
]
n
L}
«
n
n
|
n
L]
|
]
]
' IIV.
.““I
i

Silver hexagon M6 screw

Install the Front/Rear vertical U-mark
rails at a desired distance apart on both
side frames using Screws M5

M5 black screw

y, @

y 4 \ 2 2



L
—] YS.:/\CKSI / ~ R

STEP#3

Using M6 (silver) hexagonal screws, attach 2 side frames to the
back panel. Secure the carcass with the M5 black screws

Preinstalled cage nuts
oriented to the front

} M5 black screws

M5 black screws ;




SYSAACKS , ¢

STEP#4

Slide the Top into the Back Panel slots.

(]
H 1
N g
"n
.
N
L]
N L
N [
N
:I
N [
iy
N [
H [

Do same with the Bottom




SYSAACKS , ¢

STEP#5

Secure the Top with the side Frames from the inside using the
Black M5 Screws as shown in the Photo below.

J'lllll.l'll’l.l..ll'l.‘l
F -
/NN g EEEN g ER P AL

Do the same with the Bottom




SYSAACKS , ¢

STEP#6

Fix the Front Door frame with the Side Frames using the hexagonal
M6 Screws. Secure the construction with the Black M5 screws.




SYSAaAACKS y ®

STEP#/7

Install the side panels.




SYSANCKS / ~

STEP#8

Install the Front Door

-
3
'
4
3
'
'
'




SYSANCKS /

V 4

FRONT

BACK

D 570 Width il
TOP BOTTOM
'y N i
=5 ||d= gl
b= ala
(O L v
an aOn
3/S 23
2|2 <8
A A y v
SIDE Model N2 | Capacity | Height
SRE4506 6 (U) |[370 (mm)
SRE4509 9 () |500 (mm)
SRE4512 | 12 (U) |635 (mm)
SRE4515 | 15(U) |770 (mm)
Model N2 | Capacity | Height
450 Depth J SRE5606 6(U) |370(mm)
600 Depth SRE5609 9 (U) |500(mm)
. ) SRE5612 12 (U 635 (mm
Loading Capacity: 130 Lbs. (1) (mm)
SRE5615 | 15 (U) |770 (mm)

Features:

e Fully Locking Front door and side panels
* Adjustable vertical U-Mark mounting rails
e Glass door with the lockable Latch Handle

e Rear panel plank and Mounting holes to facilitate Wall installation

e 19"- Standard Equipment Industry compliance

y A

/

N



	1стр
	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8
	Страница 9

	9стр
	Страница 1


